

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



, Form 990-PF

Return of Private Foundation

or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

OMB No 1545-0052 2010

		t of the Treasury venue Service Note The foundation		reated as a Privat able to use a copy of this	e Foundation return to satisfy state repo	rting requirements	2010
For	calen	ndar year 2010, or tax year beginning			, and ending		· · · · · · · · · · · · · · · · · · ·
G (heck	all that apply Initial return Amended return		Initial return of a fo	ormer public charity	Final return Name change	
Nai	ne of	foundation	•		·	A Employer identification i	number
		BAFFLIN FOUNDATION				05-0454795	
Nur	nber a	and street (or P O box number if mail is not delivered to			Room/suite	B Telephone number	
_		C/O P.A.SILVER, 50	KEN	NEDY PLAZA	1500	401-274-200	00
L		own, state, and ZIP code PROVIDENCE, RI 029 type of organization X Section 501(c)		mpt private foundation	1 - 1841	If exemption application is per Toreign organizations, Foreign organizations meet check here and attach corr	check here
Ϊ_	_	ection 4947(a)(1) nonexempt charitable trust		ther taxable private founda	ition		
l Fa		arket value of all assets at end of year J Acc			Accrual	E If private foundation statu under section 507(b)(1)(a	s was terminated
		Part II, col (c), line 16)	Othe	er (specify)		F If the foundation is in a 60	•
_	\$	18,801,244. (Part I,	colum	n (d) must be on cash t	pasis)	under section 507(b)(1)(l	
Pá	ırt I	Analysis of Revenue and Expenses (The total of amounts in columns (b), (c), and (d) may necessarily equal the amounts in column (a))	not	(a) Revenue and expenses per books	(b) Net investment income	(c) Adjusted net income	(t) Disbursements for chantable purposes (cash basis only)
	1	Contributions, gifts, grants, etc., received	_			N/A	
	2	Check X if the foundation is not required to attach Sch	В				
	3	Interest on savings and temporary cash investments	<u> </u>	206 647	006 647		
	4	Dividends and interest from securities	-	296,647.	296,647.		STATEMENT 1
	l	Gross rents Net rental income or (loss)	ļ-		······································		
	۱ ـ	Net gain or (loss) from sale of assets not on line 10	-	-136,552.			
Jue	b	Green enjoy programme 4 0 1 0 1 0). h	130/332.	······································		
Revenue	7	Capital gain net income (from Part IV, line 2)	<u> </u>		0.		
ď	8	Net short-term capital gain			***************************************		·····
	9 10a	Income modifications Gross sales less returns and allowances			7777		
	b	Less Cost of goods sold					
	C	Gross profit or (loss)					
	11	Other income	<u> </u>	160 005	206 647		
	12			160,095. 71,524.	296,647. 14,304.		F7 220
	13	Compensation of officers, directors, trustees, etc Other employee salaries and wages	-	/1,324.	14,304.		57,220.
	1	Pension plans, employee benefits	F				
Ses		Legal fees STMT 2	<u>}</u> ├	5,000.	5,000.		0.
ě	b	Accounting fees				RECEIVE	
Ä	C	Other professional fees STMT 3	3 [2,196.	2,196.		0.
ĕ.	17	Interest				MAY 1 9 7	11 191
tra!	18	Taxes	L			AMINI TO	000
ž į	19	Depreciation and depletion	-				- J-
EE	20	Occupancy	-			0(3) 1-10	<u> </u>
ے۔ و	21	Travel, conferences, and meetings	-				
g	22	Printing and publications Other expenses STMT 4	ւ Ի	395.	0.		0.
aţi	24	•	` -	3,3,			
Operating and Administrative Expenses		expenses. Add lines 13 through 23		79,115.	21,500.		57,220.
Õ	25	Contributions, gifts, grants paid		894,400.			894,400.
	26						
		Add lines 24 and 25		973,515.	21,500.		951,620.
	27			010 100			
	1 .	Excess of revenue over expenses and disbursements	-	-813,420.	275 147		
		Net investment income (if negative, enter -0-) Adjusted net income (if negative, enter -0-)	 -		275,147.	N/A	
	, ,	rruguatou not incullio (il negative, enter -U-)	1	ì		ı N/A E	

LHA For Paperwork Reduction Act Notice, see the instructions.

Dari	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only	Beginning of year	End o	f year
FOIL		(a) Book Value	(b) Book Value	(c) Fair Market Value
1				
2	Savings and temporary cash investments	1,734,382.	1,305,437.	1,305,437.
3	Accounts receivable			
	Less allowance for doubtful accounts			
4	Pledges receivable -			
	Less allowance for doubtful accounts			
5	Grants receivable			
6	Receivables due from officers, directors, trustees, and other			
	disqualified persons			
7	Other notes and loans receivable			
	Less allowance for doubtful accounts		·	
<u>ه</u> ک	Inventories for sale or use			
Assets	Prepaid expenses and deferred charges			
10: الخ	a Investments - U.S. and state government obligations. STMT 6	953,192.	953,192.	998,472.
- 1	Investments - corporate stock STMT 7	16,706,570.	953,192. 16,342,997.	15,654,074.
- 1	Investments - corporate bonds	, , , , , , , , , , , , , , , , , , , ,		
11	Investments - land, buildings, and equipment basis	111111		
	Less accumulated depreciation	1	;	
12	Investments - mortgage loans			
13	G T V T O	766,261.	766,262.	843,261.
_	Land, buildings, and equipment basis	,00,2010	70072020	0437201
'`	Less accumulated depreciation		;	
15	Other assets (describe			
'3	Other assets (describe >			
16	Total assets (to be completed by all filers)	20 160 405	19,367,888.	18,801,244.
17		20,100,403.	17,307,000.	10,001,244.
			······	
18				
Liabilities 20 21 21	Deferred revenue			
≝ 20				
E 21	, , , , , , , , , , , , , , , , , , ,			
- 22	Other liabilities (describe			
00	Tatal liabilities (add lease 47 Abrassack 00)		0	
- 23	Total liabilities (add lines 17 through 22)	0.	0.	
	Foundations that follow SFAS 117, check here			
8 24	and complete lines 24 through 26 and lines 30 and 31.			
24	Unrestricted			
<u>ē</u> 25	Temporarily restricted			
<u>m</u> 26				
اجَ	Foundations that do not follow SFAS 117, check here			
<u> </u>	and complete lines 27 through 31.			
Net Assets or Fund Balanc 30 5 2 6 2 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5		20,160,405.	19,367,888.	
မ္တ 28		0.	0.	
₹ 29	Retained earnings, accumulated income, endowment, or other funds	0.	0.	
≥ 30	Total net assets or fund balances	20,160,405.	19,367,888.	
		_		
31	Total liabilities and net assets/fund balances	20,160,405.	19,367,888.	
Parl	Analysis of Changes in Net Assets or Fund B	alances		
	al net assets or fund balances at beginning of year - Part II, column (a), line	30		
	ist agree with end-of-year figure reported on prior year's return)		1	20,160,405.
	er amount from Part I, line 27a		2	-813,420.
	er increases not included in line 2 (itemize)	SEE STA	ATEMENT 5 3	20,903.
	lines 1, 2, and 3		4	19,367,888.
	reases not included in line 2 (itemize)	·	5	0.
6 Tota	al net assets or fund balances at end of year (line 4 minus line 5) - Part II, co	olumn (b), line 30	6	19,367,888.
022511		_ _	· 	Form 990-PF (2010)

		osses for lax on in		Income	1					
		ind(s) of property sold (e.g., or common stock, 200 shs] P	How acc - Purch - Donat	iase '	c) Date acqui (mo , day, yr	red	(d) Date sold (mo , day, yr)
1a .75 VITESSE SEI		- -			-			3/31/0		07/07/10
b 35 FIDELITY NA					1			0/13/0		08/10/10
		AL BALANCED	·		 			2/29/0		07/01/10
d					†		-	,,		0 / / 0 2 / 2 0
8		***		· · · · · ·						
(e) Gross sales price	(f)	Depreciation allowed (or allowable)		st or other basis expense of sale			· · ·	(h) Gain or (e) plus (f) n		
a 4.				5	54.					-50.
b 1,015.										1,015.
c 400,000.			_	537,51	17.					-137,517.
d										
е							**			
Complete only for assets showin	g gain in	column (h) and owned by t	he foundation	on 12/31/69				Gains (Col (h		
(i) F M V as of 12/31/69		(j) Adjusted basis as of 12/31/69		cess of col (i) col (j), if any				k), but not les Losses (from		
а										-50.
b		1								1,015.
С										-137,517.
d										
е										·
2 Capital gain net income or (net ca	pital loss	If gain, also enter If (loss), enter -0-	in Part I, line In Part I, line	7 7	}	2				-136,552
3 Net short-term capital gain or (los	s) as def	•								
If gain, also enter in Part I, line 8,			- (-)		Ĵ					
If (loss), enter -0- in Part I, line 8						3		1	$A \setminus R$	<u> </u>
Part V Qualification U							ent Inco	me		
(For optional use by domestic private	foundat	ions subject to the section 4	1940(a) tax on	net investment ir	ncom	e)				
If section 4940(d)(2) applies, leave th	ns part b	lank								
	•									
Was the foundation liable for the sect				•	riod?					Yes X No
If "Yes," the foundation does not qual Enter the appropriate amount in 6					000		·			
	acii colu		ictions before	making any entir				1		(4)
(a) Base period years Calendar year (or tax year beginnii	20 ID)	(b) Adjusted qualifying dist	tributions	Net value of no	(C) ancha		ise assets	(ool)	Distrib	(d) Outlon ratio
2009	ig iii)		0,745.				4,876.		,uiv	olded by col (c)) • 054250
2008			3,498.				7,555.			.038084
2007			0,806.				7,217.			.044225
2006		1.08	2,254.	·			9,579.			.055673
2005		1.01	1,440.				3,017.			.053113
2000						7010	37017.	 		•033113
2 Total of line 1, column (d)								2		.245345
3 Average distribution ratio for the 5	5-vear ba	se period - divide the total o	on line 2 by 5	or by the number	r of ve	ars		-		•213313
the foundation has been in exister	•	•	,o 2 0 y 0,	or by the hamber	0. ,			3		.049069
		o youro								
4 Enter the net value of noncharitab	le-use as	ssets for 2010 from Part X. I	ine 5					4	1	7,555,093.
										,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
5 Multiply line 4 by line 3								5		861,411.
•										
6 Enter 1% of net investment incom	ne (1% of	f Part I, line 27b)						6		2,751.
	•	. ,								
7 Add lines 5 and 6								7		864,162.
										· · · · · · · · · · · · · · · · · · ·
8 Enter qualifying distributions from	Part XII	, line 4						8		951,620.
If line 8 is equal to or greater than	line 7, cl	heck the box in Part VI, line	1b, and comp	lete that part usin	ng a 1	% tax ra	ate	• • • • • • • • • • • • • • • • • • • •		
See the Part VI instructions										
										200 55

_	990-PF (2010) BAFFLIN FOUNDATION		05-0	454795		Page 4
	t'VI Excise Tax Based on Investment Income (Section		4948 -	see instru	ıctio	ns)
1a E	Exempt operating foundations described in section 4940(d)(2), check here 🕨 🔲 a	and enter "N/A" on line 1				
	Date of ruling or determination letter (attach copy of letter					
b D	Domestic foundations that meet the section 4940(e) requirements in Part V, check her	e ► X and enter 1%	1		2,7	51.
0	of Part I, line 27b					
c A	All other domestic foundations enter 2% of line 27b Exempt foreign organizations ente	er 4% of Part I, line 12, col(b) 丿				
2 T	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations on	nly Others enter -0-)	2			0.
3 A	Add lines 1 and 2		3	 	2,7	51.
	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations of	•	4		^ =	0.
	Tax based on investment income. Subtract line 4 from line 3 If zero or less, enter -0-		5		2,7	51.
	Credits/Payments					
	2010 estimated tax payments and 2009 overpayment credited to 2010	6a 5,200	4			
	Exempt foreign organizations - tax withheld at source	6b	- 1			
	Tax paid with application for extension of time to file (Form 8868)	6c	4 1			
	Backup withholding erroneously withheld	6d	4 1		- ^	
	Total credits and payments Add lines 6a through 6d		7		5,2	00.
	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is	s attached	8			
	Tax due If the total of lines 5 and 8 is more than line 7, enter amount owed		9		~	40
	Overpayment If line 7 is more than the total of lines 5 and 8, enter the amount overpa		10		2,4	49.
	Enter the amount of line 10 to be Credited to 2011 estimated tax	2,449. Refunded ▶	11			0.
	t VII-A Statements Regarding Activities				V	NI.
	During the tax year, did the foundation attempt to influence any national, state, or local	i legislation or did it participate or interven	e in		res	No
	any political campaign?			_ <u>1a</u>		X
	Did it spend more than \$100 during the year (either directly or indirectly) for political p			1b	 	
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activitie	s and copies of any materials publish	ea or			
	distributed by the foundation in connection with the activities.			1.		х
	Did the foundation file Form 1120-POL for this year? Enter the amount (if any) of tax on political expenditures (section 4955) imposed during	ag the year		1 <u>C</u>	 	A
	(1) On the foundation \blacktriangleright \$ (2) On foundation man					
	Enter the reimbursement (if any) paid by the foundation during the year for political ex		-			
	managers > \$ 0.	penditure tax imposed on roundation				
	Has the foundation engaged in any activities that have not previously been reported to	the IRS2		2		X
	If "Yes," attach a detailed description of the activities	the mo-			1	
	Has the foundation made any changes, not previously reported to the IRS, in its govern	ning instrument, articles of incorporation	or			
	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the ci	-	0,	3		X
	Did the foundation have unrelated business gross income of \$1,000 or more during th	•		4a	1	X
	If "Yes," has it filed a tax return on Form 990-T for this year?	•	N/			·
	Was there a liquidation, termination, dissolution, or substantial contraction during the	year?		5		X
1	If "Yes," attach the statement required by General Instruction T.	•			177	
6 A	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisf	fied either				
•	By language in the governing instrument, or					
•	By state legislation that effectively amends the governing instrument so that no man	datory directions that conflict with the sta	te law			
	remain in the governing instrument?			6	Х	
7 [Did the foundation have at least \$5,000 in assets at any time during the year?			7	X	
1	If "Yes," complete Part II, col (c), and Part XV					
	Enter the states to which the foundation reports or with which it is registered (see insti	ructions) 🕨				
_	RI					
	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to	the Attorney General (or designate)				
	of each state as required by General Instruction G? If "No," attach explanation			8b	X	
	is the foundation claiming status as a private operating foundation within the meaning		lendar			
	year 2010 or the taxable year beginning in 2010 (see instructions for Part XIV)? If "Ye			9	<u> </u>	<u>X</u>
10 [Did any persons become substantial contributors during the tax year? If 'Yes,' attach as	schedule listing their names and addresses		l 10	1	X

X

3b

4a

4h

Yes X No

N/A

during the year?

c If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here

3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time

4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?

Form 4720, to determine if the foundation had excess business holdings in 2010.)

had not been removed from jeopardy before the first day of the tax year beginning in 2010?

b If "Yes," did it have excess business holdings in 2010 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,

b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that

Part VIII Information About Officers, Directors, Trustees, Foundary Paid Employees, and Contractors (continued)	undation Managers, Highly	
3 Five highest-paid independent contractors for professional services. If none,	enter "NONE."	
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
Total number of others receiving over \$50,000 for professional services		▶ 0
Part IX-A Summary of Direct Charitable Activities		······································
List the foundation's four largest direct charitable activities during the tax year. Include relevant number of organizations and other beneficiaries served, conferences convened, research paper.		Expenses
1 N/A		
2	•	
3		
4		
Part IX-B Summary of Program-Related Investments Describe the two largest program-related investments made by the foundation during the tax you	ear on lines 1 and 2	Amount
1 N/A	our on mice i und 2	Alloung
2		
All other program-related investments. See instructions 3		
Total Add liggs 1 through 3		0

Page 7

P	art X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations	ndations	, see instructions.)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes		
a	Average monthly fair market value of securities	1a	16,213,074.
b	Average of monthly cash balances	1b	16,213,074. 1,609,355.
C	Fair market value of all other assets	10	· · · · ·
đ	Total (add lines 1a, b, and c)	1d	17,822,429.
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation) 1e 0.		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	17,822,429.
4	Cash deemed held for charitable activities Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	267,336.
5	Net value of noncharitable-use assets Subtract line 4 from line 3. Enter here and on Part V, line 4.	5	17,555,093.
6	Minimum investment return. Enter 5% of line 5	6	877,755.
P	art XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations are foreign organizations check here and do not complete this part.)	nd certain	
1	Minimum investment return from Part X, line 6	1	877,755.
2a	Tax on investment income for 2010 from Part VI, line 5		
b	Income tax for 2010 (This does not include the tax from Part VI) 2b	1	
C	Add lines 2a and 2b	1 2c	2,751.
3	Distributable amount before adjustments Subtract line 2c from line 1	3	2,751. 875,004.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	875,004.
6	Deduction from distributable amount (see instructions)	6	0.
7	Distributable amount as adjusted Subtract line 6 from line 5. Enter here and on Part XIII, line 1.	7	875,004.
P	art XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes		051 600
а	Expenses, contributions, gifts, etc - total from Part I, column (d), line 26	1a	951,620. 0.
þ	Program-related investments - total from Part IX-B	1b	<u> </u>
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the		
а	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	951,620.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		_
	income Enter 1% of Part I, line 27b	5	2,751. 948,869.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	948,869.
	Note. The amount on line 6 will be used in Part V. column (b), in subsequent years when calculating whether the foundation in	oualifies fo	or the section

4940(e) reduction of tax in those years

Part XIII Undistributed Income (see instructions)

	, (a) Corpus	(b) Years prior to 2009	(c) 2009	(d) 2010
1 Distributable amount for 2010 from Part XI, line 7				875,004.
2 Undistributed income, if any, as of the end of 2010				
a Enter amount for 2009 only			78,489.	
b Total for prior years			1.11.11.11.11.11.11.11.11.11.11.11.11.1	
		0.		
3 Excess distributions carryover, if any, to 2010				
a From 2005				
b From 2006				
c From 2007				
d From 2008				
e From 2009				
f Total of lines 3a through e	0.			
4 Qualifying distributions for 2010 from				
Part XII, line 4 ► \$ 951,620.			70 400	
a Applied to 2009, but not more than line 2a			78,489.	
b Applied to undistributed income of prior		0.		
years (Election required - see instructions)		U •		
c Treated as distributions out of corpus	0.			
(Election required - see instructions)				873,131.
d Applied to 2010 distributable amount e Remaining amount distributed out of corpus	0.			0/3,131.
5 Excess distributions carryover applied to 2010	0.			0.
(If an amount appears in column (d), the same amount must be shown in column (a))	<u> </u>			
6 Enter the net total of each column as indicated below	-			
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	0.			
b Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b Taxable				······································
amount - see instructions		0.		
e Undistributed income for 2009 Subtract line				•••••••••••••••••••••••••••••••••••••••
4a from line 2a Taxable amount - see instr			0.	
f Undistributed income for 2010 Subtract				
lines 4d and 5 from line 1. This amount must				
be distributed in 2011		, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,		1,873.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by	_			
section 170(b)(1)(F) or 4942(g)(3)	0.			***************************************
8 Excess distributions carryover from 2005	0			
not applied on line 5 or line 7	0.			·····
9 Excess distributions carryover to 2011.	0.			
Subtract lines 7 and 8 from line 6a	0.			······································
10 Analysis of line 9 a Excess from 2006				
b Excess from 2007				
c Excess from 2008				
d Excess from 2009		, , , , , , , , , , , , , , , , , , ,		
e Excess from 2010				
		<u> </u>	1	- 000 PF 100 101

Form **990-PF** (2010)

Part XIV Private Operating F	oundations (see		/II-A. question 9)	N/A	54/95 Page II
1 a If the foundation has received a ruling o					
foundation, and the ruling is effective fo					
b Check box to indicate whether the found		-	t in section	4942(J)(3) or 49	42(J)(5)
2 a Enter the lesser of the adjusted net	Tax year	T TOWNSON GOSONISCO	Prior 3 years	3 4542()/(5/ 61 45	320/07
income from Part I or the minimum	(a) 2010	(b) 2009	(c) 2008	(d) 2007	(e) Total
investment return from Part X for		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	(4, 555	\","	
each year listed					
b 85% of line 2a		 		 	
c Qualifying distributions from Part XII,		 		 	
line 4 for each year listed					
d Amounts included in line 2c not			 		
used directly for active conduct of					
•					
exempt activities			 		
e Qualifying distributions made directly					
for active conduct of exempt activities				-	
Subtract line 2d from line 2c 3 Complete 3a, b, or c for the		 		 	
alternative test relied upon					
a "Assets" alternative test - enter (1) Value of all assets					
` '	}	 			
(2) Value of assets qualifying under section 4942(j)(3)(B)(i)					
b "Endowment" alternative test - enter 2/3 of minimum investment return					1
shown in Part X, line 6 for each year					
listed					
c "Support" alternative test - enter					1
(1) Total support other than gross					
investment income (interest, dividends, rents, payments on					
securities loans (section					
512(a)(5)), or royalties)					
(2) Support from general public					
and 5 or more exempt organizations as provided in					
section 4942(j)(3)(B)(III)					
(3) Largest amount of support from					
an exempt organization				<u></u>	
(4) Gross investment income					
Part XV Supplementary Info			y it the toundation	n had \$5,000 or mo	re in assets
at any time during t		instructions.j			
1 Information Regarding Foundation	•	- 41 00/ -441- 4-4-1			
a List any managers of the foundation where year (but only if they have contributed remains a second report of the foundation where the property of the foundation where the foundation with the property of the foundation where the foundat	io nave contributed mor nore than \$5 000\ (See	e than 2% of the total co section 507/d1/21 1	ntributions received by th	e toundation before the clos	e of any tax
NONE	11010 (11011 40,000) (000	30000011 307 (4)(2) /			
	100/		. /		
b List any managers of the foundation wh other entity) of which the foundation ha			ii (or all equally large port	ion of the ownership of a pa	irthership or
NONE					
2 Information Regarding Contribut			_	_	_
Check here \(\bigcup \text{\text{Londation of the foundation makes gifts, grants, etc.} \)					
a The name, address, and telephone num					
PAUL A. SILVER, ESQ.					
50 KENNEDY PLAZA, SU					
b The form in which applications should be					

NO SPECIAL FORM. c Any submission deadlines

NONE.

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors CURRENT PRIMARY CHARITABLE FIELDS INCLUDE ART MUSEUMS AND THE PRESERVATION OF LAND AND WILDLIFE.

023601 12-07-10

Form **990-PF** (2010)

Part XV Supplementary Information Grants and Contributions Paid During the		Pavment		
Recipient · Name and address (home or business)	. If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
	or substantial contributor	recipient		
A Paid during the year				
				•
SEE STATEMENT 9				
Total			▶ 3a	894,4
Approved for future payment		ı		
NONE				
Total 611 12-07-10			▶ 3b	

Part XVI-A Analysis of Income-Producing Activities

Enter gross amounts unless otherwise indicated	Unrelate	ed business income		ded by section 512, 513, or 514	(e)
1 Program service revenue	(a) Business code	(b) Amount	Exclu- sion code	(d) Amount	Related or exempt function income
· ·	Code		-		
<u>a</u>			 		
b	ļ		 		<u>.</u>
<u> </u>		:_	 -		
d		<u> </u>	<u> </u>		
e	-		1		
	-				
g Fees and contracts from government agencies	-				
2 Membership dues and assessments			 -		
3 Interest on savings and temporary cash					
investments			1.4	206 647	
4 Dividends and interest from securities			14	296,647.	
5 Net rental income or (loss) from real estate					***************************************
a Debt-financed property			├ ──		
b Not debt-financed property			ļ		
6 Net rental income or (loss) from personal					
property					
7 Other investment income			<u> </u>		
8 Gain or (loss) from sales of assets other			Ì		
than inventory			18	-136,552.	
9 Net income or (loss) from special events			ļ		
10 Gross profit or (loss) from sales of inventory			ļ. <u>.</u>		
11 Other revenue					
a					
b					
c					
d					
e					
12 Subtotal Add columns (b), (d), and (e)		0.		160,095.	0.
13 Total Add line 12, columns (b), (d), and (e)				13	160,095.
(See worksheet in line 13 instructions to verify calculations.)				······································	
Part XVI-B Relationship of Activities to	o the Acc	omplishment of Ex	kemp	t Purposes	
Line No. Explain below how each activity for which incor	me is renorted	in column (a) of Part YVI-A	contril	buted importantly to the accom	nlichment of
the foundation's exempt purposes (other than I			Contin	outed importantly to the accom	phoninent of
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
	· ·				
					
	_			-	· · · · · · · · · · · · · · · · · · ·
					
					7 1111
			· · · · ·		
					
					
	.	 · · · · · · · · · · · · · · · · · ·			
				 .	
					
	_				
023621 12-07-10					Form 990-PF (2010)

Part XVII	Information Regarding To Exempt Organizations	ransfers To a	and Transactions a	and Relationships With No	ncharitable	е	
1 Did the or	ganization directly or indirectly engage in	any of the following	no with any other organization	on described in section 501(c) of		Yes	No
	(other than section 501(c)(3) organization					103	110
	from the reporting foundation to a nonch						
(1) Cash	•		•		1a(1)	1	Х
(2) Other	assets				1a(2)	1	Х
b Other tran	sactions						
(1) Sales	of assets to a noncharitable exempt orga	inization			16(1)		X
(2) Purcl	nases of assets from a noncharitable exer	mpt organization			1b(2)		X
(3) Renta	of facilities, equipment, or other assets				1b(3)		Х
(4) Reim	bursement arrangements				1b(4)		Х
(5) Loan	s or loan guarantees				1b(5)		X
(6) Perfo	rmance of services or membership or fur	ndraising solicitation	ons		1b(6)		_X_
	f facilities, equipment, mailing lists, other				10		X
	wer to any of the above is "Yes," complete					sets,	
	s given by the reporting foundation. If the		ed less than fair market valu	ue in any transaction or sharing arrang	ement, show in		
) the value of the goods, other assets, or						
(a) Line no	(b) Amount involved (c) Nar		e exempt organization	(d) Description of transfers, transact	ions, and sharing a	rangeme	ents
		N/A				<u>-</u> -	
				-			
							
							
			1				
					,		
ın section	ndation directly or indirectly affiliated with 501(c) of the Code (other than section 5) omplete the following schedule			izations described	Yes	X	No
	(a) Name of organization		(b) Type of organization	(c) Description of	elationship		
	N/A					-	
	er penalties of perjury, I declare that I have examicomplete Declaration of preparer (other than tax) Signature of officer or trustee					ue, corre	ict,
	Print/Type preparer's name	Preparer's s		Date Check If	PTIN		
Paid	PAUL A. SILVEL	Pa.	O fel	57(21) self-employed			
Preparer Use Only	Firm's name ► HINCKLEY, 50 KENNED		SNYDER LLP SUITE 1500	Firm's EIN ►	l		
222 4,	Firm's address ► PROVIDENC			Phone no (401)274	-20	00
	·				Form QQ(DE	(2010)

FORM 990-PF DIVIDEND	S AND	INTER	EST FROM	SECUR	RITIES	STATEMENT	1
SOURCE		GROSS	AMOUNT		TAL GAINS	COLUMN (A) AMOUNT	
BANK OF AMERICA-SEE ATTACHED GMO INVESTMENTS-SEE ATTACHED	•		122,676. 173,971.		0.	122,67 173,97	
TOTAL TO FM 990-PF, PART I, I	JN 4	-	296,647.		0.	296,64	7.
FORM 990-PF		LEGAL	FEES			STATEMENT	2
DESCRIPTION	EXPE	A) NSES BOOKS	(B) NET INVE MENT INC		(C) ADJUSTED NET INCOM		
HINCKLEY, ALLEN & SNYDER LLP	!	5,000.	5,	,000.			0.
TO FM 990-PF, PG 1, LN 16A =		5,000.	5 ,	,000.			0.
FORM 990-PF	THER	PROFES	SIONAL FI	EES		STATEMENT	3
DESCRIPTION	EXPE PER		(B) NET INVI	EST-	(C) ADJUSTED	(D) CHARITAB	
		BOOKS	MENT INC	COME	NET INCOM		
BANK OF AMERICA		2,196.		.196.	NET INCOM	E PURPOSE	ES
BANK OF AMERICA TO FORM 990-PF, PG 1, LN 16C			2,		NET INCOM	E PURPOSE	
-		2,196.	2,	,196.	NET INCOM	E PURPOSE	0. 0.
TO FORM 990-PF, PG 1, LN 16C	O' (. EXPE	2,196. 2,196. THER E	2 , 2 , 2 , 2 , 2 , 2 , 2 , 2 , 2 , 2 ,	,196. ,196.	(C) ADJUSTED	STATEMENT (D) CHARITAB	0. 0. 4
TO FORM 990-PF, PG 1, LN 16C =	O' (. EXPE	2,196. 2,196. THER E	Z Z Z Z Z Z Z Z Z Z Z Z Z Z Z Z Z Z Z	,196. ,196.	(C) ADJUSTED	STATEMENT (D) CHARITAB E PURPOSE	0. 0. 4

DESCRIPTION OUNCE TO THE GOV'T GOV'T BOOK VALUE FIXED INCOME FUNDS—SEE ATTACHED TOTAL U.S. GOVERNMENT OBLIGATIONS TOTAL STATE AND MUNICIPAL GOVERNMENT OBLIGATIONS TOTAL TO FORM 990—PF, PART II, LINE 10A 953,192. FORM 990—PF CORPORATE STOCK	AMOUNT 12. 20,891. 20,903. STATEMENT FAIR MARKET VALUE 998,472.
TAX REFUND RECEIVED TOTAL TO FORM 990-PF, PART III, LINE 3 FORM 990-PF U.S. AND STATE/CITY GOVERNMENT OBLIGATIONS DESCRIPTION GOV'T GOV'T BOOK VALUE FIXED INCOME FUNDS-SEE ATTACHED TOTAL U.S. GOVERNMENT OBLIGATIONS TOTAL STATE AND MUNICIPAL GOVERNMENT OBLIGATIONS TOTAL TO FORM 990-PF, PART II, LINE 10A 953,192. FORM 990-PF CORPORATE STOCK DESCRIPTION BOOK VALUE EQUITY FUNDS-SEE ATTACHED 16,342,997.	20,891. 20,903. STATEMENT 6 FAIR MARKET VALUE 998,472.
FORM 990-PF U.S. AND STATE/CITY GOVERNMENT OBLIGATIONS U.S. OTHER GOV'T GOV'T BOOK VALUE FIXED INCOME FUNDS-SEE ATTACHED TOTAL U.S. GOVERNMENT OBLIGATIONS TOTAL STATE AND MUNICIPAL GOVERNMENT OBLIGATIONS TOTAL TO FORM 990-PF, PART II, LINE 10A 953,192. FORM 990-PF CORPORATE STOCK DESCRIPTION BOOK VALUE EQUITY FUNDS-SEE ATTACHED 16,342,997.	STATEMENT 6 FAIR MARKET VALUE 998,472.
DESCRIPTION OU.S. OTHER GOV'T GOV'T BOOK VALUE FIXED INCOME FUNDS-SEE ATTACHED TOTAL U.S. GOVERNMENT OBLIGATIONS TOTAL STATE AND MUNICIPAL GOVERNMENT OBLIGATIONS TOTAL TO FORM 990-PF, PART II, LINE 10A DESCRIPTION DESCRIPTION BOOK VALUE CORPORATE STOCK BOOK VALUE 16,342,997.	FAIR MARKET VALUE 998,472.
DESCRIPTION GOV'T GOV'T BOOK VALUE FIXED INCOME FUNDS-SEE ATTACHED TOTAL U.S. GOVERNMENT OBLIGATIONS TOTAL STATE AND MUNICIPAL GOVERNMENT OBLIGATIONS TOTAL TO FORM 990-PF, PART II, LINE 10A 953,192. FORM 990-PF CORPORATE STOCK DESCRIPTION BOOK VALUE EQUITY FUNDS-SEE ATTACHED 16,342,997.	VALUE 998,472.
TOTAL U.S. GOVERNMENT OBLIGATIONS TOTAL STATE AND MUNICIPAL GOVERNMENT OBLIGATIONS 953,192. TOTAL TO FORM 990-PF, PART II, LINE 10A 953,192. FORM 990-PF CORPORATE STOCK DESCRIPTION BOOK VALUE EQUITY FUNDS-SEE ATTACHED 16,342,997.	<u>`</u>
TOTAL STATE AND MUNICIPAL GOVERNMENT OBLIGATIONS 953,192. TOTAL TO FORM 990-PF, PART II, LINE 10A 953,192. FORM 990-PF CORPORATE STOCK DESCRIPTION BOOK VALUE EQUITY FUNDS-SEE ATTACHED 16,342,997.	998,472.
TOTAL TO FORM 990-PF, PART II, LINE 10A FORM 990-PF CORPORATE STOCK DESCRIPTION BOOK VALUE EQUITY FUNDS-SEE ATTACHED 16,342,997.	998,472.
FORM 990-PF CORPORATE STOCK DESCRIPTION BOOK VALUE EQUITY FUNDS-SEE ATTACHED 16,342,997.	
DESCRIPTION BOOK VALUE EQUITY FUNDS-SEE ATTACHED 16,342,997.	998,472.
DESCRIPTION BOOK VALUE EQUITY FUNDS-SEE ATTACHED 16,342,997.	STATEMENT 7
	FAIR MARKET VALUE
TOTAL TO FORM 990-PF, PART II, LINE 10B 16,342,997.	15,654,074.
	15,654,074.
FORM 990-PF OTHER INVESTMENTS	STATEMENT 8
VALUATION DESCRIPTION METHOD BOOK VALUE	
FOREIGN CURRENCY COST 104,369. INTERNATIONAL REAL ESTATE FUND COST 103,071. COMMODITIES COST 558,822.	FAIR MARKET VALUE
TOTAL TO FORM 990-PF, PART II, LINE 13 766,262.	

FORM 990-PF

9

STATEMENT

		······································	
RECIPIENT NAME AND ADDRESS	RECIPIENT RELATIONSHIP AND PURPOSE OF GRANT	RECIPIENT STATUS	AMOUNT
COALITION FOR BUZZARDS BAY 620 BELLEVILLE AVENUE NEW BEDFORD, MA 02745	NONE PROJECT SUPPORT	PUBLIC	50,000.
CONNECTICUT AUDUBON SOCIETY 2325 BURR ROAD FAIRFIELD, CT 06824	NONE PROJECT SUPPORT	PUBLIC	250,000.
EAST QUABBIN LAND TRUST PO BOX 5 120 RIDGE ROAD HADWICK, MA 01037	NONE PURCHASE CONSERVATION RESTRICTION	PUBLIC	25,000.
GROTON OPEN SPACE ASSOCIATION 26 MAIN STREET GROTON, CT 06340	NONE LAND ACQUISITION	PUBLIC	35,000.
OPACUM LAND TRUST PO BOX 233 STURBRIDGE, MA 01566	NONE PROJECT SUPPORT	PUBLIC	15,000.
DUDLEY CONSERVATION LAND TRUST PO BOX 14 DUDLEY, MA 01571	NONE LAND ACQUISITION	PUBLIC	20,000.
MOUNT GRACE LAND CONSERVATION TRUST 1461 OLD KEANE ROAD ATHOL, MA 01331	NONE PROJECT SUPPORT	PUBLIC	27,500.
NATURE CONSERVANCY 159 WATERMAN STREET PROVIDENCE, RI 02906	NONE PROJECT SUPPORT	PUBLIC	200,000.

GRANTS AND CONTRIBUTIONS

. PAID DURING THE YEAR

BAFFLIN FOUNDATION			05-0454795
RHODE ISLAND SCHOOL OF DESIGN MUSEUM OF ART 224 BENEFIT STREET PROVIDENCE, RI 02903	NONE PROJECT SUPPORT	PUBLIC	14,400.
THE TRUST FOR PUBLIC LAND 33 UNION STREET, 4TH FLOOR BOSTON, MA 02108		PUBLIC	50,000.
SALEM LAND TRUST PO BOX 2133 SALEM, CT 06420	NONE LAND ACQUISITION	PUBLIC	15,000.
SIPPICAN LAND TRUST 354 FRONT STREET MARION, MA 02738	NONE PROJECT SUPPORT	PUBLIC	25,000.
WALDEN WOODS PROJECT 44 BAKER FARM LINCOLN, MA 01773		PUBLIC	25,000.
WESTERLY LAND TRUST PO BOX 601 WESTERLY , RI 02891		PUBLIC	50,000.
AVALONIA LAND CONSERVANCY PO BOX 49 OLD MYSTIC, CT 06372		PUBLIC	10,000.
AQUIDNICK LAND TRUST 790 AQUIDNICK AVENUE MIDDLETOWN, RI 02842	NONE PROGRAM SUPPORT	PUBLIC	25,000.
AUSBON SARGENT LAND TRUST PO BOX 2040 NEW LONDON, NH 03257	NONE PURCHASE CONSERVATION EASEMENT	PUBLIC	10,000.
EAST HADDAM LAND TRUST PO BOX 122 EAST HADDAM, CT 06423	NONE PROGRAM SUPPORT	PUBLIC	25,000.

BAFFLIN FOUNDATION			05-0454795
GALLERY NIGHT PROVIDENCE PO BOX 603024 PROVIDENCE, RI 02906	NONE PROGRAM SUPPORT	PUBLIC	2,500.
NORTHERN CONNECTICUT LAND TRUST PO BOX 324 SOMERS, CT 06071	NONE LAND ACQUISITION	PUBLIC	20,000.
TOTAL TO FORM 990-PF, PART XV, L	INE 3A		894,400.

EIN: 05-0454795 2010 Form 990-PF

Page 1, Part I Line 4 - Dividends and Interest from Securities - Statement 1:

BANK OF AMERICA ACCOUNT

Cash and Equivalents:

Columbia Money Market Reserves G Trust Class		
1/4/10	0.48	
1/4/10	176.96	
2/1/10	0.85	
2/1/10	98.35	
2/1/10	0 96	
2/1/10	35 39	
3/1/10	0.02	
3/1/10	106.84	
4/1/10	0.07	
4/1/10	115 88	535.80
Bank of America Money Market Reserves		
5/3/10	0 37	
5/3/10	118 88	
6/1/10	0 10	
6/1/10	141.17	
7/1/10	0.41	
7/1/10	179.39	
8/2/10	1.73	
8/2/10	200.48	
9/1/10	0.08	
9/1/10	208 88	
10/1/10	0.21	
10/1/10	173.32	
11/1/10	0.67	
11/1/10	137 84	
12/1/10	0.02	
12/1/10	34 98	1,198.53
Vanguard Money Market Trust Prime Portfolio		
1/4/10	4.79	
2/1/10	5.84	
3/3/10	1.99	
4/6/10	1 41	
5/17/10	1 86	
6/8/10	5 81	
7/1/10	10 02	
8/3/10	31.37	
10/7/10	20.08	
	20.00	

Page 1, Part I Line 4 - Dividends and Interest from Securities - Statement 1:

10/7/10 11/2/10 12/8/10	8/31/10 payment	8/31/10 payment		25 77 15.42 10.62	134.98	
Mutual Funds:						
Biotech Holders Trust						
Year 2010	No dividends rec	eived				0.00
Broadband Holders Tr	ust Depositary Red	ceipt				
3/2/10	5,000 unit	ts at	0.000800		4.00	
3/10/10	5,000 unit	ts at	0 002400		12.00	
3/30/10	5,000 unit	ts at	0 007200		36.00	
4/2/10	5,000 unit	ts at	0.004500		22.50	
6/2/10	5,000 unit	ts at	0 000800		4.00	
6/23/10	5,000 unit	ts at	0.002400		12.00	
6/29/10	5,000 unit	ts at	0.010400		52.00	
7/2/10	5,000 uni	ts at	0.004500		22 50	
8/31/10	5,000 uni	ts at	0.000800		4 00	
9/15/10	5,000 uni	ts at	0.002400		12.00	
9/28/10	5,000 uni	ts at	0.010400		52.00	
10/1/10	5,000 uni	ts at	0.004500		22 50	
11/30/10	5,000 uni	ts at	0.000800		4 00	
12/15/10	5,000 uni	ts at	0.002400		12 00	
12/21/10	5,000 uni		0.004500		22 50	
12/24/10	5,000 uni		0.010400		52.00	
12/29/10	•	ts at	0 019500		97 50	443.50
Dodge & Cox Internation	onal Stock Fund					
12/22/10	11,663.121 uni	ts at	0.495000		5,773.24	5,773.24
12,22,10	11,000.121 4111	to at	0.100000		0,170.21	0,110.21
Fidelity National Inform	ation Services Inc.					
3/30/10	35 shar	res at	0.050000		1.75	
6/30/10	35 shar	res at	0.050000		1 75	3.50
Henderson Internationa	al Opportunity Fund	d Class	s C			
1/19/10	22,706.046 shar				28.16	28 16

Page 1, Part I Line 4 - Dividends and Interest from Securities - Statement 1:

iShares Barclays Ti					
1/5/10	4,600	units at	0.238863	1,098 77	
2/5/10	4,600	units at	0 208085	957 19	
3/5/10	4,600	units at	0 004450	20 47	
4/8/10	4,600	units at	0.441509	2,030.94	
5/7/10	4,600	units at	0.163313	751.24	
6/7/10	4,600	units at	0.541400	2,490.44	
7/8/10	4,600	units at	0.280620	1,290.85	
8/6/10	4,600	units at	0 192104	883.68	
9/8/10	4,600	units at	0 030087	138.40	
10/7/10	4,600	units at	0.135372	622.71	
11/5/10	4,600	units at	0.254839	1,172.26	
12/7/10	4,600	units at	0.178628	821.69	12,278.64
iShares Barclays 1-	-3 Year Treausurv	Bond Fur	nd		
1/5/10	6,000	units at	0.085038	510 23	
2/5/10	6,000	units at	0.084088	504.53	
3/5/10	6,000		0.074697	448.18	
4/8/10	6,000	units at	0.079567	477.40	
5/7/10	6,000	units at	0.078418	470.51	
6/7/10	6,000	units at	0.070542	423.25	
7/8/10	6,000	units at	0.072673	436.04	
8/6/10	6,000	units at	0 070522	423.13	
9/8/10	6,000	units at	0 069670	418.02	
10/7/10	6,000	units at	0.065428	392 57	
11/5/10	6,000	units at	0 066788	400.73	
12/7/10	6,000	units at	0.064212	385.27	5,289.86
Shares MSCI Eme	raina Markets Inde	ex Fund			
1/6/10	6,600	units at	0 012012	79.28	
6/29/10	6,600	units at	0 261603	1,726.58	
12/30/10	6,600	units at	0.359415	2,372.14	4,178.00
				· · · · · · · · · · · · · · · · · · ·	
Shares MSCI Hong	-				
6/29/10	14,700	units at	0.275829	4,054.69	
12/30/10	14,700	units at	0 171571	2,522 09	6,576.78
Shares MSCI Japa	an Index Fund				
6/29/10	30,500	units at	0.068773	2,097.58	
12/30/10	30,500	units at	0.073008	2,226.74	4,324.32

EIN: 05-0454795 2010 Form 990-PF

Page 1, Part I Line 4 - Dividends and Interest from Securities - Statement 1:

iShares MSCI Pacific Ex	κ-Japan Index	Fund			
6/29/10	8,400	units at	0.565014	4,746.12	
12/30/10	8,400	units at	0.986105	8,283.28	13,029.40
Shares MSCI South Ko			0.070000	4 000 00	
6/29/10	•	units at	0 272636	1,226.86	
12/30/10	4,500	units at	0.169098	760.94	1,987 80
iShares Russell Midcap	Index Fund				
3/30/10	3,300	units at	0.250039	825.13	
7/9/10	3,300		0.316803	1,045.45	
9/29/10	3,300		0 443285	1,462 84	
12/29/10	3,300		0 468039	1,544.53	4,877.95
101		_			
iShares Russell 3000 G				a= 4	
3/30/10	6,900		0.123900	854.91	
7/9/10	6,900		0.151229	1,043.48	
9/29/10	6,900		0 121357	837 36	
12/29/10	6,900	units at	0.154380	1,065.22	3,800.97
iShares Russell 3000 Va	alue Index Fu	ınd			
3/30/10	4,840	units at	0 337800	1,634 95	
7/9/10	4,840		0.435074	2,105.76	
9/29/10	4,840	units at	0 421514	2,040.13	
12/29/10	4,840	units at	0.494205	2,391 95	8,172.79
iShares S&P Small Cap	600 Index Fi	ınd			
3/31/10	3,200	units at	0 126416	404 53	
6/29/10	3,200		0.130803	418.57	
9/30/10	3,200		0.149356	477.94	
12/30/10	3,200	units at	0.330563	1,057.80	2,358.84
12/30/10	5,200	uriits at	0.00000	1,007.00	2,000.04
Shares Trust Dow Jone			=		
3/31/10	•	units at	0 300626	1,593 32	
6/30/10	5,300	units at	0.355287	1,883.02	
9/29/10	5,300	units at	0.281955	1,494.36	
12/29/10	5,300	units at	0.448928	2,379.32	7,350.02
iShares Trust S&P 500	Index Fund				
3/31/10	2,300	units at	0.497270	1,143.72	
6/29/10	2,300	units at	0.496474	1,141.89	
9/30/10	2,300	units at	0.626457	1,440.85	
12/30/10	2,300	units at	0.616339	1,417.58	5,144 04
55, 15	~,550				-,

Page 1, Part I Line 4 - Dividends and Interest from Securities - Statement 1:

iShares Trust S&P North American	Natural Res	sources Sector Ind	lex Fund	
6/25/10 7,80	0 units at	0.179036	1,396.48	
12/30/10 7,80	0 units at	0.396697	3,094 24	4,490.72
Maxim Integrated Products Inc.				
3/5/10 12	5 shares at	0 200000	25.00	
6/4/10 12	5 shares at	0.200000	25.00	
9/3/10 12	5 shares at	0.210000	26.25	
12/7/10 12	5 shares at	0.210000	26.25	102.50
Oil SVC Holders Trust				
1/12/10 2,50		0.036200	90.50	
	0 units at	0.019200	48 00	
1/15/10 2,50	0 units at	0 014000	35.00	
2/17/10 2,50	0 units at	0.031500	78.75	
3/1/10 2,50	0 units at	0 014000	35 00	
3/3/10 2,50	0 units at	0.013752	34.38	
3/3/10 2,50	0 units at	0.206252	515.63	
3/4/10 2,50	0 units at	0.010168	25 42	
3/18/10 2,50	0 units at	0.012500	31.25	
3/23/10 2,50	00 units at	0.002752	6.88	
3/25/10 2,50	00 units at	0.029600	74.00	
3/26/10 2,50	00 units at	0.012000	30.00	
3/30/10 2,50	00 units at	0.018048	45.12	
4/6/10 2,50	00 units at	0.036200	90.50	
4/14/10 2,50		0.019200	48.00	
5/20/10 2,50		0 753200	1,883.00	
5/25/10 2,50		0 048316	120 79	
5/27/10 2,50		0 009744	24 36	
5/28/10 2,50		0.007500	18.75	
6/3/10 2,50		0.151252	378.13	
6/3/10 2,50		0.013752	34.38	
6/17/10 2,50		0.012500	31.25	
6/22/10 2,50		0 038500	96.25	
6/24/10 2,50		0 029600	74.00	
6/29/10 2,50		0.018048	45 12	
7/7/10 2,50		0.036200	90.50	
7/14/10 2,50		0.019200	48.00	
8/17/10 2,50		0 048316	120.79	
8/31/10 2,50		0.118680	296.70	
8/31/10 2,5		0.027552	68.88	
9/3/10 2,5		0.082500	206.25	

Page 1, Part I Line 4 - Dividends and Interest from Securities - Statement 1:

9/3/10	2,500	units at	0.013752	34.38	
9/17/10	2,500	units at	0.012500	31.25	
9/21/10	2,500	units at	0.038500	96.25	
9/23/10	2,500	units at	0.029600	74.00	
9/28/10	2,500	units at	0 018048	45.12	
10/5/10	2,500	units at	0.059604	149 01	
11/6/10	2,500	units at	0.048316	120.79	
11/22/10	2,500	units at	0.029076	72.69	
12/3/10	2,500	units at	0.082500	206 25	
12/3/10	2,500	units at	0.013752	34 38	
12/17/10	2,500	units at	0.012500	31 25	
12/21/10	2,500	units at	0.019852	49 63	
12/21/10	2,500	units at	0.038500	96 25	
12/27/10	2,500	units at	0.029600	74 00	5,840 83
	ater Resources Portf				
6/30/10	•	units at	0.025479	160.52	
12/31/10	6,300	units at	0 076390	481.26	641 78
0.1	DD T				
	DR Trust Energy	••	0.474700	4 040 50	
3/31/10	7,100	units at	0 171769	1,219.56	
6/30/10	7,100		0.212594	1,509.42	
· 9/29/10	6,000		0.249190	1,495.14	5004.50
12/29/10	6,000	units at	0 292910	1,757.46	5,981.58
Select Sector SF	DR Trust Financials				
3/31/10	5,000	units at	0.036360	181 80	
6/30/10	5,000		0.030560	152 80	
9/29/10	5,000		0.033330	166.65	
12/29/10	5,000	units at	0 056190	280.95	782.20
	,			 	
	DR Trust Healthcar				
3/31/10			0.108030	972.27	
6/30/10			0 151250	1,361.25	
9/29/10	9,000		0 153970	1,385 73	
12/29/10	9,000	units at	0 164320	1,478 88	5,198 13

Page 1, Part I Line 4 - Dividends and Interest from Securities - Statement 1:

Semiconductor Holders	Trust Deposit	tary Recei	pt		
1/13/10	2,500	-	0.004800	12.00	
2/24/10	2,500	units at	0.021724	54 31	
2/26/10	2,500	units at	0.007500	18.75	
3/3/10	2,500	units at	0.004500	11 25	
3/3/10	2,500	units at	0.035924	89.81	
3/3/10	2,500	units at	0.003000	7.50	
3/5/10	2,500	units at	0 008000	20.00	
3/10/10	2,500	units at	0.002400	6.00	
3/19/10	2,500	units at	0.015600	39.00	
4/14/10	2,500	units at	0.004800	12.00	
5/19/10	2,500	units at	0 021724	54.31	
6/3/10	2,500	units at	0.004500	11.25	
6/3/10	2,500	units at	0.003000	7.50	
6/3/10	2,500	units at	0 035924	89.81	
6/11/10	2,500	units at	0.008000	20.00	
6/18/10	2,500	units at	0.018200	45.50	
6/18/10	2,500	units at	0.013200	33.00	
6/23/10	2,500	units at	0.002400	6.00	
7/14/10	2,500	units at	0.004800	12.00	
8/18/10	2,500	units at	0.021724	54 31	
8/23/10	2,500	units at	0.007500	18.75	
9/3/10	2,500	units at	0.035924	89.81	
9/3/10	2,500	units at	0.007500	18.75	
9/3/10	2,500	units at	0.003600	9.00	
9/3/10	2,500	units at	0 008000	20 00	
9/15/10	2,500	units at	0.002400	6.00	
9/17/10	2,500	units at	0.018200	45.50	
9/17/10	2,500	units at	0.013200	33.00	
10/14/10	2,500	units at	0.006000	15.00	
11/24/10	2,500	units at	0.023924	59.81	
11/29/10	2,500	units at	0.007500	18.75	
12/3/10	2,500	units at	0.035928	89.82	
12/3/10	2,500	units at	0.007500	18.75	
12/3/10	2,500	units at	0 003600	9.00	
12/3/10	2,500	units at	0.008000	20 00	
12/15/10	2,500	units at	0.002400	6.00	
12/17/10	2,500	units at	0.018200	45.50	
12/24/10	2,500	units at	0.013200	33.00	1,160.74

EIN: 05-0454795 2010 Form 990-PF

Page 1, Part I Line 4 - Dividends and Interest from Securities - Statement 1:

SPDR D J Wilshire	International Rea	ıl Estate ET	F		
3/31/10	1,600	units at	0.157175	251 48	
6/30/10	1,600	units at	0.288600	461.76	
9/29/10	1,600	units at	0.323113	516 98	
12/30/10	1,600	units at	2.615256	4,184.41	5,414.63
Total Sys Svcs Inc					
1/4/10		shares at	0.070000	3 50	
4/1/10	50	shares at	0.070000	3 50	
7/1/10	50	shares at	0.070000	3.50	
10/1/10	50	shares at	0 070000	3 50	14.00
Vanguard Informat	ion Technology In	dex Vipers			
12/29/10	5,800	units at	0 362000	2,099.60	2,099.60
Vanguard Index Tr	ust Extended Mar	ket			
3/29/10	6,400	units at	0.011000	70.40	
12/31/10	6,400	units at	0.530000	3,392.00	3,462 40
GMO INVESTMEN	ITS ACCOUNT:				
Global Balanced A	sset Allocation Fu	nd-III			
7/8/10	Dividend on	920,144.82	24 units	3,128 49	
12/30/10	Dividend on	920,485.99	units	170,842.20	173,970.69
				<u>-</u>	296,646.92

EIN: 05-0454795 2010 Form 990-PF

Page 2, Part II Lines 10a, 10b and 13 - Assets on Hand - Statements 6, 7 and 8:

rago 2, rait il Elineo roa, rob una ro riocotto on riana rotatomon	<u> ,</u>	,	ľ	Market Value	
Description		Book Value		12/31/10	
Bank of America Account					
Cash Equivalents & Cash					
Cash (RI SPCA check to be returned)	\$	5,000.00	\$	5,000.00	
Bank of America Government Reserves Trust Class	\$	49,065.26	\$	49,065.26	
Bank of America Government Reserves Trust Class	\$	1,240,182.18	\$	1,240,182.18	
Vanguard Money Market Trust Prime Portfolio	\$	11,189.82	\$	11,189.82	
	\$	1,305,437.26	\$	1,305,437.26	
Foreign Currency					
4,600 Powershares DB U S. Dlr Index Trust Bullish Fund	\$	104,369.40	\$	104,466.00	
	\$	1,409,806.66	\$	1,409,903.26	
Equities:					
US Large Cap:					
900 Biotech Holders Trust	\$	175,050.00	\$	89,676 00	
5,000 Broadband Holders Trust Depository Receipt	\$	87,818 20	\$	70,350.00	
6,900 iShares Russell 3000 Growth Index Fund	\$	290,283.00	\$	323,817.00	
4,840 iShares Russell 3000 Value Index Fund	\$	444,166.80	\$	412,610.00	
2,300 iShares Trust S&P 500 Index Fund	\$	283,498 00	\$	290,375.00	
5,300 iShares Trust Dow Jones US Consumer Non-Cyclical					
Sector	\$	282,490.00	\$	342,115.00	
6,000 Select Sector SPDR Trust Energy	\$	304,140 00	\$	409,500.00	
5,000 Select Sector SPDR Financials	\$	64,250 00	\$	79,750.00	
9,000 Select Sector SPDR Trust Healthcare	\$	283,178 00	\$	283,500.00	
2,500 Semiconductor Holders Trust Depositary Receipt	\$	89,655.23	\$	81,325.00	
5,800 Vanguard Information Technology Index Vipers	\$	282,576.00	\$	356,815.42	
US Mid Cap:					
100 Comverse Technology Inc	\$	2,567.71	\$	726.00	
3,300 iShares Russell Midcap Index Fund	\$	299,706.00	\$	335,775.00	
125 Maxim Integrated Products	\$	-	\$	2,952.50	
6,300 Powershares Water Resources Portfolio	\$	103,314.00	\$	119,637.00	
50 Total Sys Svcs Inc.	\$	2,774.64	\$	769.00	
US Small Cap:					
3,200 iShares S&P Small Cap 600 Index Fund	\$	186,944 00	\$	219,104 00	
5,200 Powershares Wilderhill Clean Energy Portfolio	\$	98,024 00	\$	54,028 00	
3,200 Vanguard Index Trust, Vanguard Extended Market	\$	291,200.00	\$	348,224.00	
3 Vitesse Semiconductor Corp.	\$	215.82	\$	12.57	
International Developed:					
11,663.121 Dodge & Cox International Stock Fund	\$	419,290.85	\$	416,490.05	
22,707.519 Henderson Global International Fund	\$	452,116.56	\$	454,377 46	
8,400 iShares MSCI Pacific Ex-Japan Index Fund	\$	280,022.00	\$	394,632 00	
30,500 iShares MSCI Japan Index Fund	\$	425,120.00	\$	332,755.00	
140.000 Nortel Networks Corp.	\$	26.35	\$	1.93	

Page 2, Part II Lines 10a, 10b and 13 - Assets on Hand - Statements 6, 7 and 8:

Description	Book Value		Market Value 12/31/10	
Emerging Markets:		DOOK Value		12/31/10
6,600 iShares MSCI Emerging Markets Index Fund	\$	204,128 00	\$	314,437.20
4,500 iShares MSCI South Korea Index Fund	\$	200,840.00	\$	
14,700 iShares MSCI Hong Kong Index Fund	\$	190,826.00	\$	
Tip of tending week trong mask tand	\$	5,744,221.16	_	6,287,234.13
Fixed lincome:	•	0,7 7 1,22 1.10	•	0,201,201.10
4,600 iShares Barclays Tips Bond Fund	\$	470,672.00	\$	494,592.00
6,000 iShares Barclays 1-3 Year Treasury	\$	482,520.00	\$	503,880.00
o,oso ismaiso zaralayo i o rodi. modaliy	\$	953,192 00	\$	998,472 00
Real Estate Special Situations:	•	000,102 00	•	000, 112 00
1,600 SPDR DJ Wilshire International Real Estate ETF	\$	103,070.56	\$	62,288 00
Commodities:	•	100,010.00	•	02,200 00
2,600 iShares Trust S&P North American Natural Resources				
Index Fund	\$	227,126 00	\$	325,182.00
2,500 Oil SVC Holders Trust	\$	331,696.00	\$	
2,000 011 0 10 11010010 11000	\$	558,822.00	\$	676,507 00
	•	000,022.00	Ψ	0.0,00.00
TOTAL BANK OF AMERICA PORTFOLIO	\$	8,769,112.38	\$	9,434,404.39
Mutual Fund (GMO Investment) 596,395.455 Global Balanced Asset Allocation Fund III in USD @				
\$12 0000748/unit	\$	7,156,790.07		
17,992 320 Reinvestment @ 11.48	\$	206,551.84		
36,951 913 Reinvestment @ 11.95	\$	441,575.36		
21,276.505 Reinvestment @ 12.57	\$	267,445.67		
58,926 147 Reinvestment @ 11.82	\$	696,507 06		
38,632 341 Reinvestment @ 10.56	\$	407,957 52		
100,339.872 Reinvestment @ 8.04	\$	806,732.57		
14,036.119 Reinvestment @ 8.04	\$	112,850.40		
9,097.008 Reinvestment @ 8.37	\$	76,141.96		
26,497 144 Reinvestment @ 9 52	\$	252,252.81		
341.166 Reinvestment @9.17	\$	3,128.49		
17,135.627 Reinvested @9.97	\$	170,842.20		
937,621.617		10,598,775.95	\$	9,366,840.00
001,021.011	_ _	. 5,555,775.55		2,000,010.00
	<u>\$</u>	19,367,888.33	\$	18,801,244.39